2022 10A1B» > OEFKRERE - BHEH X = 2 —Hiffitg

01. 22U 1,850 (%)
02. D& 2,400/ ()
03. B 2,950M ()
04. 13 & 3,500/ ()
05. H % 1,850 (Ht:)
06. BFHZ >V F 1,200/ (#t)
[(F7vavr=a—]

01. MREF I =R T —FEIRBEE 3,180 (%)
02. FEEE Rk (F5) 2,410 ()
03. F#EE ERE (¥5) 2,520 (#n)
04. RMF3@BRE (FKF - 1H - HXV) 8703 (%)
05. I D AN 760M (#52)
06. S=CTZhEH 5503 (F#ir)
07. I=F#S LA 430/ (B2
08. ZWiZE L 430M (B52)
09. MR E A 6803 (%2
10. MBR4100% /N> /N — 2 1600 (%)
(AR 55+ 4]

01. 22U 1,850 (%)
02. D& 2,400/ ()
03. B 2,950M ()
04. 13 & 3,500/ (Ftn)
05. H % 1,850 (Ht)
06. BFHZ >V F 1,200/ (#t)
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